v WURTH

BOJIT C LUECTUTPAHHOM rONIOBKOM K.N. 8,8, DIN 933, (A2K)

I1SO 4017

OuMHKOBAHHASA CTAMDb

Knacc npourHocrtu 18,8l

Fony6oe naccusuposanue (A2K)

00573 10 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M3x10
00573 30 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M3x30
00574 10 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M4x10
00574 12 Bont ¢ é-1p. ron., k.n. 8,8, ISO 4017, (A2K) M4x12
00574 16 Bont ¢ é-rp. ron,, k.n. 8,8, ISO 4017, (A2K) M4x16
00574 20 Bont ¢ é-rp. ron,, k.n. 8,8, ISO 4017, (A2K) M4x20
00574 25 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M4x25
00574 30 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M4x30
00574 40 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M4x40
00574 50 Bont ¢ é-1p. ron., k.n. 8,8, ISO 4017, (A2K) M4x50
00574 60 Bont ¢ é-rp. ron., k.n. 8,8, ISO 4017, (A2K) M4x60
00575 10 Bont ¢ é-rp. ron., k.n. 8,8, ISO 4017, (A2K) M5x10
00575 12 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M5x12
00575 16 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M5x16
00575 20 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M5x%20
00575 25 Bont ¢ é-rp. ron,, k.n. 8,8, ISO 4017, (A2K) M5%x25
00575 30 Bont ¢ é-rp. ron., k.n. 8,8, ISO 4017, (A2K) M5x30
00575 35 Bont ¢ é-rp. ron., k.n. 8,8, ISO 4017, (A2K) M5x35
00575 40 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M5x40
00575 50 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M5x50
00575 60 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M5x60
00576 10 Bont ¢ é-rp. ron,, k.n. 8,8, ISO 4017, (A2K) Méx10
00576 12 Bont ¢ é-rp. ron,, k.n. 8,8, ISO 4017, (A2K) Méx12
00576 14 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) Méx14
00576 16 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) Méx16
00576 20 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M6x20
00576 25 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M6x25
00576 30 Bont ¢ é-rp. ron., k.n. 8,8, ISO 4017, (A2K) Mé6x30
00576 35 Bont ¢ é-rp. ron., k.n. 8,8, ISO 4017, (A2K) M6x35
00576 40 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) Méx40
00576 45 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) Méx45
00576 50 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M6x50
00576 60 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M6x60
00576 70 Bont ¢ é-rp. ron., k.n. 8,8, ISO 4017, (A2K) Mé6x70
00576 80 Bont ¢ é-rp. ron., k.n. 8,8, ISO 4017, (A2K) M6x80
00576 100 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) Mé6x100
00578 10 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x10
00578 12 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x12
00578 20 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x20
00578 25 Bont ¢ é-rp. ron., k.n. 8,8, ISO 4017, (A2K) M8x25
00578 30 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x30
00578 35 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x35
00578 40 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x40
00578 50 Bont ¢ é-1p. ron., k.n. 8,8, 1SO 4017, (A2K) M8x50
00578 55 Bont ¢ é-rp. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x55
00578 60 Bont ¢ é-rp. ron,, k.n. 8,8, ISO 4017, (A2K) M8x60
00578 65 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x65
00578 70 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x70
00578 75 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x75
00578 80 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x80
00578 90 bont ¢ é-rp. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x90

2.1.8



ww WURTH

00578 100 Bont ¢ é-p. ron,, k.n. 8,8, ISO 4017, (A2K) M8x100
00578 110 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M8x110
00578 120 Bonrt ¢ é-1p. ron., k.n. 8,8, ISO 4017, (A2K) M8x120
005716 25 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M16x25
005716 30 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M16x30
005716 35 Bont ¢ é-p. ron,, k.n. 8,8, ISO 4017, (A2K) M16x35
005716 40 Bont ¢ é-p. ron,, k.n. 8,8, ISO 4017, (A2K) M16x40
005716 50 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M16x50
005716 55 Bonrt ¢ é-1p. ron., k.n. 8,8, ISO 4017, (A2K) M16x55
005716 60 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M16x60
005716 70 Bont ¢ é-p. ron,, k.n. 8,8, ISO 4017, (A2K) M16x70
005716 80 Bont ¢ é-p. ron., k.n. 8,8, ISO 4017, (A2K) M16x80
005716 90 Bont ¢ é-p. ron., k.n. 8,8, ISO 4017, (A2K) M16x90
005716 100 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M16x100
005718 40 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M18x40
005718 50 Bont ¢ é-rp. ron., k.n. 8,8, 1ISO 4017, (A2K) M18x50
005718 60 Bont ¢ é-p. ron,, k.n. 8,8, ISO 4017, (A2K) M18x60
005718 100 Bont ¢ é-p. ron,, k.n. 8,8, ISO 4017, (A2K) M18x100
005720 30 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M20x30
005720 40 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M20x40
005720 50 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M20x50
005720 60 Bont ¢ é-rp. ron., k.n. 8,8, 1ISO 4017, (A2K) M20%x60
005720 65 Bont ¢ é-p. ron,, k.n. 8,8, ISO 4017, (A2K) M20x65
005720 70 Bont ¢ é-p. ron,, k.n. 8,8, ISO 4017, (A2K) M20x70
005720 80 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M20x80
005720 90 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M20x90
005720 100 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M20x100
005720 120 Bont ¢ é-rp. ron., k.n. 8,8, 1ISO 4017, (A2K) M20x120
005720 160 Bont ¢ é-p. ron,, k.n. 8,8, ISO 4017, (A2K) M20x160
005722 120 Bont ¢ é-p. ron., k.n. 8,8, ISO 4017, (A2K) M22x120
005724 60 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M24x60
Npumeuanue 005724 70 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M24x70
e SO 4017 3amenser DIN 933 005724 80 Bont ¢ é-rp. ron., k.n. 8,8, 1ISO 4017, (A2K) M24x80
« Vmeiorcs Hexoropsie cxomcTsa 005724 90 Bont ¢ &1p. ron., k.n. 8,8, 1SO 4017, (A2K) M24x90
* HoMMHanbHblE pasMepbl yBennueHbI 005724 100 Bont ¢ é-p. ron., k.n. 8,8, ISO 4017, (A2K) M24x100
* Pasmep noa KNtoy M3MeHeH 005724 120 Bont ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M24x120
ana M10, M12, M14 1 M22 005730 80 Bonrt ¢ é-1p. ron., k.n. 8,8, 1ISO 4017, (A2K) M30%80

2.1.9



